YOUNG LIVES SECONDARY SCHOOL SURVEY
Maths | Wave 2

Thistest booklet contains mathematics items administered to studentsin Grades 9, at Wave 2 of Y oung Lives school survey in
India. This survey took placein 2017.

Items were selected following extensive piloting. For more details on item sources and the test development process, see (Moore et
al, 2017. Young Lives School Survey, 2016-17: Evidence from India).

Some itemsin this test are copyright Educational Initiatives, Ahmedabad, India. For permission to use these items, please contact
info@ei-india.com.



qehs0955
Line

qehs0955
Line

qehs0955
Line

qehs0955
Line


[ 4
. /{/{f' Centre for Economic and Social Studies O
YOU ng LIVGS A AA Nizamiah Observatory Campus, Begumpet Hyderabad 61

An International Study of Childhood Poverty Website: www.cess.ac.in :
educational

LNLTLATLves

YOUNG LIVES SECONDARY SCHOOL SURVEY: WAVE 2
Subject: Maths Medium: English / Telugu

You should have been given 2 documents: this Test Booklet and a separate Answer Sheet. Before you begin, read these instructions carefully.

§0% Bot HEren BAsTEEoD. e8¢ S8 &Y 2088 [@3°)0P) TOHID DATTD DGO. DO B8 DIV egore DEHok

Carefully read the questions in this Test Booklet. For each question, there are four options - A, B, C and D. Only one of these options is correct. Identify the option which
you think best answers each question.

@i@) 2088 (HT09) SO HE 0 erFSETr DBEI0G. VB DEHLH TN DIPEEEred A B C 0O D Garyon. @otHed 2,88 000D DHPEEH0. OB NHD O HODD
DHPTPH0 @BH0ENTDE POV JoDE B0,

On the Answer Sheet given to you, find the corresponding question number and draw a cross ("X’) on the option you want to select. Only select one option for each
question. B Deiees O . & V) Doy wIEVBMP DO DeSTPTPSo 2 “X * (G0 &G, 208 VF) § 28 DSrePdo WovidS k.

Example A B X D

Please do not write on the Test Booklet. Use a separate piece of paper for any working out.

8P a3 (©3°,58) Lo O grasod. DKy HY, 3T DG &ues Baod.

If you want to change your answer, blacken the entire square for your original answer and then write a cross (‘X’) on the new answer you want to select.

2838 S0tH DHPEPH0 SPTHLHLDO0E, BN DLPEH0 Gy BAD HROP BB VBV DIFEV0 P X HE YOG,

comoe [ A o N X

Each question carries 1 mark. No marks will be cut for wrong answers.

08 DHD 2.8 &5, ©otnod. BQ)) DATPPTPOE P8, 0 é@oéaocﬁ@.
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‘ Which of the following is a prime number? 808 a3 DB HEEd 00oay"?

A. 5 . 5
B. 15 . 15
C. 25 25
D. 35 &. 35
| A number added to 35 gives 56. 8,8 00aEd 35 BN 56 HND.

€ 00ag DO?

What is the number? 0. 12
A. 12 . 20
B. 20 . 21
C.21 & 91
D.91
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‘ 7341 is completely divisible by

A. 3

7341 & Q D0y DZNOTP aPBOD?

| 3 ones and 7 tens =

3 20880 + 7 DO

A. 73

. 73
B. 40

2. 40
C. 37

. 37
D. 10

&. 10

| -4 - (-5) = ) -4 - (-5) =

A -1 0. -1
B 1 . 1

. -9
C. -9

& 9
D. 9
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‘n Which of these is the cube root of 729? 808 B8 729 & 505 JreIN AO?

A. 9 . 9

B. 13 2. 13

C. 19 2. 19

D. 27 &. 27

| (-35) +27 = (-35) +27 =

A. -62 o). —62

B. -8 . -8

C. 8 2. 8

D. 62 & 62

|n If the numerals: 15, -12, -22 & 23 are arranged in ascending | 15, -12, -22 00350 23 ©d &38:5res géaoeﬁ”g @@@Qé 2839 &) Do

(increasing) order, the numerals will be written as : JPA0DY"?

A. -12, 15, -22,23 o. —12,15,-22, 23
B. -22 -12.15, 23 @. —22,-12,15, 23
C. -12,-22,15, 23 . -12,-22,15, 23
D. 23,15,-12,-22 &. 23,15,-12,-22
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‘ Which of the following fractions is the greatest?

808 S 2 a0 WD DEO?

1

2 = 8 2 8

4 8 16 2 16
A. 2 D 2

4 ’ 4
B. 2 o 2
C. E 2. i
D. all are equal 8. o) pardind
If represents 75%, which of the following represents 75% 0 oD, s 08 S8 125% 0 OO
125%7?

SOIAISWelAYY
| |
| |
A B C D
N ) R &
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‘ What fraction of the shape below is shaded?

C.

D.

N |-

more than %

less than E
2

88 808 e35°50P N& BODDED ERB0 DPDOL 2IN0 AD?
S Al

. 1
1

2. —
2
1

B, ST P

&. % S0y SERD

A.
B.
C.
D.

5a2
5a°
6a>

6a’

2a’ x 3a =

. 5a’
2. 5a°
6a>

&. 6a’
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0.99 + =1

0.1

. 0.01

&. 0.001
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E

A company produced 17,175 cars in 1996. For a report, this number
was rounded to the nearest hundred. Which was the number of cars
given in the report?

A. 17,000
B. 17,100
C. 17,200
D. 17,270

2.8 800D 1996 8 17,175 578 6@ SR0D. VIOS 5800 & Hoad
0O FPDDVVE) DNDO) 2GID. VIO HB BODY 508 D0 DOB?

o). 17,000
®. 17,100
. 17,200
&. 17,270

B

Cuboid x and Cuboid y below are both made of 4 identical unit
cubes each.

X y

What can be said about volume of x and y?

A. volume of x is greater than volume of y
B. volume of x is less than volume of y
C. volume of x is same as volume of y

D. volume of x and volume of y can’t be determined

4 DBGORD 08 VB0V EBDAHOD, 05 B BY 010 X’
H0OAD0 Y HDHM ‘Y OO ST SB.

X y

X SO Y © EVHDONTEI0D (PR QL By IOB?

®. X DODONTEIO, Y NIDDXTEIO By B0,

8. X 0J0DATEIO, Y aDVVDTEI0 %) BEN0

94

X 0DA3 Y © S0ADDNTEINA VTP

X SOOI Y © 500000000 E0F8HS 500
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‘ 4 identical tiles are used to form the shape shown below. The area | 4 g P B GOTPA0D S8 0O BBV VBPATE.
of the shape is 16 sq cm. Do 16 5250.8.

Some more iden.tical tiles were added .to the above shape to form S0 D VAPD By T8 SO 36 ©.20.80 SToEn S0

another shape with area 36 sq cm. Which of the following could be =2 o5

the new shape formed? VOB NE WSPBNND SATTPETBITE. oD S8 o °¢3E° & Sogdrr
DEDDD BSERH0 O?

T

M

This redacted item is not for public release
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‘ Three equilateral triangles are inscribed in a circle with center O as
shown below.

Which of the three triangles are congruent?

triangles 1 and 2 only
triangles 2 and 3 only

triangles 1 and 3 only

o o w >

all the three triangles

‘O SoBdnrr $O HBINS L0

SR5e0 BoBH9.

DTV BehHesdnen o

S0 BEDEPO DD DBOOTT N ?

0.
&

a@

&e

Baheren 1 0OAN 2 e0 SFGD
BaDeren 2 HHO050 3 e ST
Baheren 1 L0OA5 3 e SeBaD
L0 ebareen

11
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‘ Look at the map below. 808 3750 &0 (a0,

Market Road

MG Road

Y A
L)
S
&

LBS &3am S0oain Jgroedie
(None of the streets shown in the map are perpendicular to

Which of these streets are perpendicular to each other? 88 808 e D 2.5wr 525 ©00P HIeo0?
A. MG Road and LBS Marg . MG 855 200050 LBS aﬁygzﬁw
B. Market Road and MG Road &, &0, E 2opat0 MG 856
C. LBS Marg and Nehru Road 2
&.

each other.) (@rsRd? A HED e.85we8°EE ©oworr 83).)
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What is §+§?
5 6

A 2
11
B. >
11
c. =
30
p. 33
30

2.5 ?
5 6
2 2
11
6
. —
11
o 2
30
a 33
30

| Sheetal has made a pattern with pieces of chart paper.

o § KK s § K 5 §

What will come next in the pattern?

XA

386 o) 5°BS) $05088 8.8 @HOSM BT
o { KK o K o €

&3 @IDES SIS H5VD DO?

. &
®. ‘gg
s

?
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‘ Jim has balanced some bags of marbles. All the marbles are of the

same weight. The number of marbles in each bag is written on it.

How many marbles are there in the bag marked M?

A. 13
B. 17
C. 33
D. 49

B DIPD DD o B DooSt I & DIHPDO0
ey S,

8.8%%, 009 & 58e Joag 0 P TGN, ‘" @D FADED
D0DSD FDe Joay Dos?

0. 13
». 17

33
&. 49

15
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| Look at the picture below.

What is N — 2

20

o0 ® »

40

808 DZQ 500008

b4,
N — e DOB?

8 &
(@))

20
40

(o4

g
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Zaheer Khan

8
Harbhajan Singh 7
SCJ Broad 7
MM Patel 5
Yuvraj Singh 5

A teacher gave the table shown above and asked to represent the
data in some other way. Given below is the way Vandana, Asif,
Devpal and Aasma represented it.

azo;S
68 vob

adRR.8 eré

20.00 HBS
aswHoed vob

|| NN

a8 GIPTPOINT) P JXPTPTR) oY)y TPRAD IO Erodh

BPH00D.  DOBI, VY, TIPS, Wpen D §od  DGSore
QPR O,
F \
9
8 asodord ob
& ; Do.Ddo HBS
25
g 4 18 cwdvBers
: & ,
f Dre58 BB
0
a;.b-ss :::g:s m)g.g.a Q:)OS%O cméig.g abrBarS

b

drbarS

. )
VANDANA [ AsF
9 Yuvraj Singh
8
7
2 g MM Patel
35
£ $
'§ 4 % SCJ Broad
£ “ ]
2 Harbhajan
1 Singh
0
Zaheer Harbhajan SCJBroad MM Patel  Yuvraj Zahesr Khan
Khan Singh Singh
Bowler ’ . : ¥
No. of wickets
DEVPAL m
iaf:::f‘?(hasﬂ - T 11 Zaheer Khan
arbhajan Sing Ml Harbhajan Singh
;%J :rloald Wm” SCJ Broad
: al se - MM Patel
‘uvraj Singl M Yuvraj Singh )
L J

Who has represented it correctly?

A. only Vandana
only Vandana and Asif

only Vandana and Aasma

o0 W

all of them

[l

L abr6arsS

GmS bob I 1l “rGm8 bob

a8 arb I a®9.0.8 wrb

0.0 HBES M
Do.do HBS

awSTS 506 i DS Bl D

S J

TOS8 IS TR DO APPOTE?

Q. HOHBD HPBaDd

8. DOEGD, BV SPGB
Q. DD, sIen HrGab
&. ©oRsr
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‘ A histogram is a graphical representation of grouped data, with the éééaé Ol (CICEVNEY 851?"53@ QBGRV0 D8ODBD (37"@39"50)-

bars showing the frequency of the class interval. The following is a | s« 58 ééo&e)o BEEB ©OBEHN PRI WP DO, &t LB

histogram showing the distribution of marks of 27 students in a test.
27 008 PIXgRO HPERD DePETR WPNOW AHPITET DB

1 808 araN&IR.

No. of students

D5 Doads

0 10 20 30 40 50 60 70 80 90 100

Marks >
0 10 20 30 40 50 60 70 80 90 100

m"(i)&e))

Study the histogram and answer the following question based on it.

What does the bar shaded black represent?
D8PS Tar DEPQy aPGESr DOBD0D rdP eEPEHGD §08 NEHD

The maximum marks scored by a student. 233°20 BY0Cs.

The average marks scored by 5 students. S 58 Sooess évgé@é@éw 508 1 008?

The number of students who scored 45 marks.
0. a8 8)@5%) PDODD (S&)Xg D &ye0.

o o w >

The number of students who scored marks between 40 and 50.
2. 55N 8)@568@ PROAND DN L0y e0.

Q. 45 IR0 DoarHOAD D8O DO,

&. 40 00050 50 06k HTPEROK0 &IP00R 8)CS°§C58€) Do,
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fl Shown below is the graph representing the highest and the lowest

o

temperature recorded in a day for a week. Study it and answer the
guestion.

® Maximum Temperature
O Minimum Temperature

A
40° A

[ 4
¢ e
» , Z
§ 25 / )-{\ ——
@ >
20° \
Sun Mon Tues Wed Thu Fri Sat
Day

On which day of the week was the HIGHEST temperature
recorded?

A. Sunday

B. Monday

C. Wednesday
D. Saturday

28 80 HEB I JoHaBD (B8, EOF SBGS0 rFod
Sarogind® SrHaEo. TR0 PGS HOBD0D HH WD
P A0

® (505 GISeD
O 505 GBISD

[ 4
= ji
o , /

ealifisden

J \ )'q)_

20° e,
80 DD DoBE 2w B DE B0

B8ax

TSGR O DeardP 505 SPGB0 HIPL VDD

o). BIB0
2. DDTPB0

2085°80

&. SJar80
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‘ Rahul is older than Ramesh and Ramesh is older than Peter.
Which statement must be true?

A. Rahul is older than Peter

B. Rahul is younger than Peter

C. Rahul is the same age as Peter

D. We cannot tell from this information

TS, GahR TG DA 0K, HEG STy DG, & L0 DI ?

0. OIS, HiEab E0y D

. o509, Hed ooy DYy

Q. ooH0d, H0d Do DEPDO

&. 880560 2008 JHTB DEE H0H0 BB

| Rahul's father is 6 times as old as Rahul. Rahul's mother is 25 years
old. The average age of this family of three is 20 years. How old is

Rahul?

A. 15years
B. 10 years
C. 7years
D. 5years

TPaT0E B0 DAY TPIVS HOVNK 6 BeY. ToTVS S HOY) 25
DODBTPED. @ BENODOSTD  H0RD  DAH  Askw DA 20

DODSTED. ©ONE TPLTVES HADKY) DOH?

0.

.

&.

15 dod&soren
10 doDdedyoren

7 DODSHTe0

5 DODS TP
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‘ K¥M A sheet of paper is 0.012 cm thick. Of the following, which would be | 2.8 sed%0 0.012 080 DoBIL DB GHD. @D 400
. : o
the height of a stack of 400 sheets of this paper~ SBBHVOM 2SO 5 B0 TR Y, S FoB &S 95
A. 0.048 cm A DROD?
B. 0.48cm ®. 0.048 20.80
C. 48cm @. 0.48 2080
D. 48cm ®. 483208
&. 4830.50
| Observe the number pattern in the number triangle below. 8od HOY® @e;imémégso D0 OXNOB $000H06%.
1 € Row 1 1 < @Cégéd)& 1
2 3 4 <« Row 2 2 3 4¢< BEIBD 2
5 6 7 8 9 €—— Row3 56739<—@®aé<§oé3
10 11 12 13 14 15 16 €<——— Row4 10 11 12 13141516<—@9c€8éd)é4
17 18 19 20 21 22 23 24 25 €<— Rowb5 17 18 19 20 21 22 23 24 25<—@C§G)éd)é 5
If it is extended, what will be the last number (on the right) in the DD B2 AoND 9D @9@@@@@5 (HEUB D) DO D08 O?
9" row?
x. 25
A. 25
B 36 . 36
C. 61 . 61
D. 81 & 81
21 TLMTO9A




‘ Here is a letter pattern.

a
aba
abcba
abcdcba

How many times would you have written the letter 'c' if you complete
writing this pattern up to the end of the TENTH row?

A. 10
B. 15
C. 19
D. 45

B8t 2.8 9ET°O WNOE SOK.

a
aba
abcba
abcdcba

88 DS 10 O HAD B TR, e ‘C’ ©FT°R) QL T°B

D)0ErY)?

. 10

». 15

a@

19

&. 45

22
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‘ Of the pieces shown here, which two could form a semicircle when 96 L°0D mé&@@s H Bo QO @O0 SHIEN D) VD
) . .
placed next to each other with their edges touching® @0 2.5 OB, BEHOD 26536509

o
. Q)G«\ . 6007 \V, 60 /77
Ny ¢
w X Y Z

A. ZandW Q. Z D005 W

B. WandY
an 2. Woooiw Y

C. Yand Z
Y 00050 Z

D. Zand X

&. Z Hooosw X
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‘ The table below shows the relationship between the x and y.

X 2 3 4 5
y 4 7 | 10 | 13

Which of the these equations expresses this relation?
A y=2x+2

y=x+2

y=4x-4

O 0w

y=3x-2

&8 $o DS X, y © D055 DODOEHNVI P LOL.

X 2 3 4 5
y 4 7 | 10 | 13

88 808 J§08BEI0OH DB €8 HOBOLHN N5 HDBW?

0. Y=2X+2
. y=x+2
D. y=4x-4
& y=3x-2
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